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1. Fill out the following table for the unicellular organisms we studied.
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7.L.2.1 Explain why offspring that result from sexual reproduction (fertilization and meiosis) have greater

variation than offspring that result from asexual reproduction (budding and mitosis).

3. What is sexual reproduction? n eea[ 517@ rvin /Ejj
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4. Whatis asexual reproduction
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7. What is the purpose of meiosis and where does appen? What kind of cells are produced?
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8. If a single cell starts out with a diploid number of 28 chromosomes and undergo meiosis how many new cells
will we have in the end and how many chromosomes will each new cell have? Draw a picture to show the

process.
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7.L.2.2 Infer patterns of heredity using informaﬂ)on from Punnett squares and pedigree an nalysis.
10. Mendel worked with pea plants and made the following crosses. Complete the Punnett Squares and
below each square put the genotypes and phenotypes formed and list their percentages.
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12. In purple people eaters, one horn (H) isdominant .and no horns (h) . Complete the Punnett
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‘ H il henotypes of the possible offspring.
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3. InNoombats, yellow bellies (Y) are dominant over green bellies (y). '
Y\ H S Complete the Punnc*t squgre to-show a cross between a gurebred yéllo belied Noombatanda -
36 Noombat that is brid for belly ¢ color? What is the probability e parents will have yellow ’
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14. st possible for two yellow bellied Noombats fo have a green bellied child? Identify the genoty s of
the parents and complete the cross on the Punnett square.
a. Genotypes of the parents: _&cnd




